1. (12 points) Find the area enclosed by the curves y = 2* and y = 222 — 2. (Simplify your

answer.)
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2. Evaluate the following integrals. (Simplify your answers.)

(a) (7 points) /2.1?(:03(2.r+ 1) dzx. Iﬂ 4—63{'6{—"9/\ ktj PQF-LS

IN(2x +4
Lok u=Qx and  cos(2x+h)dx =dv  Fron du=2dx and V= 5"‘1 )
jélx cos(Qxa)dx = &X. M) % JS‘Y‘_____O-X”) DK
2 2.
= Y. stw(&x—»ﬂ - fs\n(ix—M) alX
= Y.gin(xH) + _c_o_SL%H_) + C
(b) (7 points) . %dl %f“leL Fractions
b-5x  _ b-5x A B AkeD+B.(24)= b-5x
St (ax-d) (x#3) X XA (A+28)x + (3A-B) = b-5x
Q: —31. =) Arapg==-5 and M—%'.‘.é
= A= 1, =-32
QX’L+5)<-3 Y+3

a4l o falxyzl + C
- 2




/2 L=l o
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3. (a) (6 points) Find the derivative of the function f(x) = \/(x2.5%)3 .
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(¢) (6 points) Write the equation of the tangent line to the curve y = 1 — e” at the point

where its graph crosses the a-axis.
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4. (11 points) The product of two positive numbers is 54. Find the numbers if the sum of

the first number and the square of the second number is as small as possible.
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5. Evaluate the following limits if they exist. If the limit does not exist explain why. State

the type of indeterminate form, if any.
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6. (a) (6 points) If F(x) = / sint?dt then find F'(4).
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